~ FB042
~ FB060
~~ FB090
" FB115
~ FB142
_~ FB180
~ FB220

Series

SEIKO QUALITY

SHARED GLOBALLY

fBLmbl £kL=E

043




&I =358 MODEL ILLUMINATE

________________________________________________________________________________________________________

REHES e R 4

FB042/FB060/FB090 P S1: FiBEM
FB115/FB142/FB180/FB220 . S2: Mif-EH
R EL: - ERIES
B25 (L1): 3,4,5,7,8,10 - e ]

M4 (L2): 15,20,25,30,35,40,50,70,80,100

________________________________________________________________________________________________________________

% el FB090-10-S2-P2 / MHMD-082G1U

044



&t —FB L E#
8 20 55) 208 342 588

130 1140
4 19 50 140 290 542 1050 1700
B 5 22 60 160 330 650 1200 2000
L1 6 20 55 150 300 600 = =
7 19 50 140 300 550 1100 1800
8 17 45 120 260 500 1000 1600
10 14 40 100 140 450 520 1220
12 20 55 130 208 342 - -
15 20 55 130 208 342 588 1140
HUERE T15E Toy Nm 20 19 50 140 290 542 1050 1700
25 22 60 160 330 650 1200 2000
30 22 50 130 330 342 1200 2000
WER 35 22 60 160 330 650 1200 2000
L2 40 22 50 140 330 542 1200 2000
50 22 60 160 330 650 1200 2000
60 20 55 150 300 600 - -
70 19 50 140 300 550 1100 1800
80 17 45 120 260 500 1000 1600
100 14 40 100 140 450 520 1220
ERHIENNEE T Nm L1L2 3~100 3 EEERH e
TERNELE N, rpm L1L2 3~100 5000 5000 4000 4000 3000 3000 2000
BABMANFEE N, rpm L1.L2 3~100 10000 10000 8000 8000 6000 6000 4000
[ : L1 3~10 <5 <5 <5 <5 <5 <5 <5
e aremin =5 15-100 <7 <7 <7 <7 <7 <7 <7
R Nmvaromin| ~ L1.L2 3~100 3 7 14 25 50 145 225
BFREAN Fop” N L1L2 3~100 780 1530 3250 6700 9400 14500 50000
BV S Foap” N L1.L2 3~100 350 630 1300 3000 4000 6200 35000
BYFHE N Fous® N L1.L2 3~100 390 765 1625 3350 4700 7250 25000
ERE® hr L1.L2 3~100 20000 °
N L1 3~10 = 97%
BE 1 % 2 15-100 > 94%

_ L1 3~10 05 1.3 3.7 7.8 14.5 29 48
B kg L2 15~100 0.8 1.9 41 9 17.5 33 60
FRERE © L1L2 3~100 -10°C ~+90°C
iy L1L2 3~100 & AoEE AR
DR ELg L1.L2 3~100 IP65
ZEANX L1.L2 3~100 ERAE
M {E (n,=3000pm) | dB | LiL2 | 3~100 <56 <58 <60 | <63 | <65 <67 <70

R E -FB Ai#EH

M 1% B 7
3 0.03 0.16 0.61 3.25 9.21 28.98 69.61
1 0.03 0.14 0.48 2.74 7.54 2367 54.37
5 0.03 0.13 0.47 2.71 7.42 23.29 53.27
L1 6 0.03 0.13 0.45 2.65 7.25 23.75 51.72
7 0.03 0.13 0.45 2.62 7.14 22.48 50.97
8 0.03 0.13 0.44 2.58 7.07 2259 50.84
10 0.03 0.13 0.44 257 7.03 22,51 50.56
12 0.03 0.03 0.13 0.47 2.71 7.42 2329
15 0.03 0.03 0.13 0.47 2.71 7.42 23.29
st , 20 0.03 0.03 0.13 0.47 2.71 7.42 23.29
i B kgram o, 25 0.03 0.03 013 0.47 2.71 7.42 23.29
30 0.03 0.03 0.13 0.47 2.71 7.42 23.29
35 0.03 0.03 0.13 0.47 2.71 7.42 23.29
40 0.03 0.03 0.13 0.47 2.71 7.42 23.29
50 0.03 0.03 0.13 0.44 2.57 7.03 22,51
60 0.03 0.03 0.13 0.44 2.57 7.03 22,51
70 0.03 0.03 0.13 0.44 2.57 7.03 22,51
80 0.03 0.03 0.13 0.44 2.57 7.03 22,51
100 0.03 0.03 0.13 0.44 2.57 7.03 22,51

1ORGREE (1=N/Noy, ) 2. fH#® 100rpm B, fEAF@H MO AE 3 ESEHERERES Dz —

045



4pE R~FEl% /OUTLINE DIMENSION SHEET

FB-042-L1

NI/ INPUT

A ‘><\

C2

FB-042-L2

I/ INPUT

C7

c7

X

g50

B

23

i HH

5h9

M4x0.7P

213hs J13hs

g

A S1

A s2

@35n7

Cc9
26 C8
<«
195 a9 §
- 1
4_2.5 14 r
. @)
= == r—— 0~ " 17 & ~
& = 1
|
0] 1] afj_ﬂ
|| ]
5.9 C4
C9
26 C8
w,
19.5 ‘g §
] ]
2.5 14 -
|
e N I [ R0
= — HE8
|
10] 1] *fj_ﬁ
o —
5.9 C4

HHi%/OUTPUT

950

42

HHi%/OUTPUT

42

EA

4-03.4

@57

@45 8 46

4-M3x8 (9] 275 @30 5 65.5 91.5
246 4-M4x10 @8 275 @30 5 46 655 915
FB-042-L1

266.67 4-M4x10 ©6.3508 275 (38.1 5 57 655 915

a70 4-M4x10,4-M5x12 211 32 @50 5 60 70 96

@45 4-M3x8 8 275 @30 5 46 86 112

FB-042-L2 @46 4-M4x10 a8 275 @30 5 46 86 112
266.67 4-M4x10 ©6.3508 27.5 338.1 5 57 86 112

* C1~CTRARWRESIAERIRZ R A RES A 2R BIREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

046



4p2 R~FEl% /OUTLINE DIMENSION SHEET

FB-060-L1

EINER/INPUT iR/ OUTPUT
C9
37 C8
28,5 6
5 b2 i &
B ©)
= - S|P T s
g EP 1T t"}_g[ 3
o 15 |
, 15 1 ]_cs 5
! co
C4
FB-060-L2
BN/ INPUT #4Hii% /OUTPUT
C9
37 C8
285 6
S W . $
] | ol
= _ - TN T o 5
=R L S e
. 15 |
¥ 5 C6 23
7 c10
C4

i

515

FB-060-L1 78.5 1155

— - 066.7 4-M4x10 @8 34 @381 5 60

M5X°'8P o MEx0.87 FB-060-L2 107.5 1445 55
a —| -

T/ FB-060-L1 785 1155 55

———————— @70 4-M4x104-M5x12 211,014 34 @50 5 60 ——
1606 FB-060-L2 107.5 1445 55
FB-060-L1 4-M5x12,4-M6x14 2 o0 65 80 0 2 12

—————————— @90 =IVIoX1Z,4-IVIox 19 4 85) SRS
AU S1 IR S2 FB-060-L2 14 151 12

* C1~CTRATIREDIAEERC R T AT REE R ERKPIREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

047



4pE R~FEl% /OUTLINE DIMENSION SHEET

FB-090-L1

EINIR/ INPUT

FB-090-L2

AR/ INPUT

i HH

' M8x1.25P p M8x1.25 P
) l,,' 2.
B ST BT S2

C9
48 c8
365 8
k28 N
= 2| s Q]
= B SR T s
g —T..- e o B :_“-_T:‘:'-g §
19 |
15 |
1
10 1. ce
c10
c4
c9
48 c8
365 8
id
o 28 —
= E % 7= ‘-@'i——r ~
8 BT 8
19 '] o
15 —
& c10
1o c4

--_-

50

450

EiHiR/OUTPUT

4-97

i HiR/OUTPUT

2116

@90 4-M5x12,4-M6x14 219

e @100 4-M6x14 216 42 280 65 86 99 147 6
2115 4-M8x20 219,822 56.5 @95 8 100 114.5 1625 16.5
3145 4-M8x20 219,022,024 59 @110 11 130 117 165 19
366.7 4-M4x10 a8 34 @381 5 60 123 171 5.5

FB090-L2 @70 4-M4x10,4-M5x12 211,814 34 @50 5 60 123 171 515
@90  4-M5x12,4-M6x14 719 42 @g70 6.5 80 1295 1775 12
3100 4-M6x14 16 42 @80 6.5 86 1295 1775 11

* C1~CTRATIRESREERC RT RIEE A ERRIREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

048



4p2 R~FEl% /OUTLINE DIMENSION SHEET

BNIR/INPUT #4418/ OUTPUT
C9
65 C8
51 1o 115
o -
b 40 !
| z 1
= —— S| -
5 SRl B N e R A
S | i 1
I
»_|2 | s
s vl
o2 12 c1g
c4
HINIR/ INPUT LIS OUTPUT
Cc9
65 C8
51 10
= B
_.b_ 40 ] e
=) !
N ];L = (@}
5| br—r, o =
g T N 1T1B = Lot &l 8
C6
28 |2 +
i L
[ e C10
2 C4

i

B e

M12x1.75P  —
[ @145 4-M8x20 219,022,024 64 @110 10 130 134 199 195

8 FB-115-L1
@200 4-M12x28 @35 81 @114.3 10 180 1515 2165 28
@32n6 @90 4-M5x12, 4-M6x14 @19 42 @70 65 80 1505 2155 7
FBAt5.L2 2100 4-M6x14 216 42 @80 65 86 1505 2155 6

1 y -115-
R ST A S2 @115 4-M8x20 219,022 565 @95 8 100 166 231 165
@145 4-M8x20 219,022,024 59 @110 11 130 1685 2335 19

* C1~CTRAFRIREDIAEER Z R, AIREE A ERBEIREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

049



4pE R~FEl% /OUTLINE DIMENSION SHEET

BINif/ INPUT HHis/OUTPUT
c9
97 c8
c7 79 12 142
b 65 T
| 5| BlO|
I e E 5 5 B
§ T — T 1 I ! |--81§
v ce
36 3 I
15 — ic19)
c4
HiNim/ INPUT HHig/OUTPUT
9
97 c8
79 12 142
_ =
b 65 :' o |
1
wn
= a Pl leil
S ER AT L as £
1
1
36 3 1] C6 5 Rda
L Q
] b 8 S~—
15 _
C10 4911
c4

i HH

12n9

Rt C4 | C5 |C6| C7 | C8 | C9 |C10
I I N N 8 0 1 2 R

M16x2.0P @145 4-M8x20 @22.@224 72 @110 130 155 252 195

. M16x2.0P
L OF 9l - FB-142-L1
N @200 4-M12x28 @35 815 @1143 8 180 165 262 25
orunly 2145 4-M8x20 19,922,324 64 @110 10 130 199 296 19.5
@200 4-M12x28 @35 81 @143 10 180 2165 3135 28
AR S1 AR S2 * C1~CTRATIRESAERIR R AliREE P ER R EM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

050



4pE R~FEl%k /OUTLINE DIMENSION SHEET

FB-180-L1

BN / INPUT 09 i / OUTPUT
105 8

[CO
N
[T1&

|

|
i
\®/

s

|cr\
—
=3

#187
450

180

T
e ™

C6

©
$160n7
=
= | T
N Il
3
Al

7
@ﬂQ@ !
)
©

Sl
&
©
F1
(567

/ \. 9 °
N4 © Wi g 2] | e
2 320 — F
€10 4-813
4
FB-180-L2
BN / INPUT 09 i / OUTPUT
105 cs
¢ 82 180

[T 1=

O,

: B{‘c@

Ia\

70

/®: s '\
&G'
(e
Y

8l —E o 7 D N
5 & CRi==s i H & )
MOV A 3 Q)
S =9 @ 42 jrﬁ Gy o Quﬁy
®ﬁ. @®®>ﬂ 24 L e s §t/%\®/
4 . = S o L-013 =
4 S

i H

R ENEIED
@200 4-M12X28 @35,042 82 @114.3 180 178 283
FB180-L1 @200 4-M12X28 42 1175 @114.3 8 180 2135 318.5 455
@215 4-M12X28 @38,042 87 2180 8 192 183 288 15
@145 4-M8X20 @22,024 72 @110 11 130 231 336 19.5
FB180-L2 @200 4-M12X28 &35 81.5 @114.3 8 180 241 346 25
@215 4-M12X28 238 82 2180 8 192 243 348 25
* C1I~CTRAHINEDSAERIRZ R ARIEE P EREIRER.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

051



4ME R~FEl% /OUTLINE DIMENSION SHEET

SN / INPUT o Lo & i / OUTPUT

105 20

@218
2225.5

.9 &
[~ ] O W
5| =t 8
Ql [T [SI1S)
| 3| E Cé
130] c10
C4
AT /INPUT cs it / OUTPUT
138 C8
w)
105 20 L & §
8 8
3 7*90 o
| O
5 8 = H— A k-1 g S
S ‘ O
| au
Lsi C10 4-017 2292
C4

i HH

@200 4M12x28 g3B,042 116 1143 15 200 227 365 195

> FB-220-L1 @215 4M12x30 042 100 @180 8 200 220 358 125
m — 9235 4M12x30 Q42,055 119 @200 10 220 230 368 225
o756 @200  4-M12x30 35 85 o143 7 180 264 402 75

0200 4-M12x30 042 16 @1143 7 180 295 433 40

WA ST R S2 FB2 s a2 042 90 @180 8 200 269 407 14
0235  4M12x30 042 120 @200 10 220 200 437 44

* C1~CTRATIREDIAEERC R AIiREE FERPIRE.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

052



